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Drawn water is different for it is only Rabbinical — 31297 72°Rw "INW

OVERVIEW

The X123 inferred from X7°7 " (who stated that a 103725 107 QW3 1Y is not a M)
that a 1™92% 7 WKW awn 1w is a M1w. The & na challenged this from a &n**92
(regarding a [wooden] pipe bringing water to a mp»n) which states that if a solid
block of wood was first placed into the ground and then it was gouged out to form
a pipe, the water coming into the mp»n through this pipe is w5 (it is not considered
0°21RW). However this is a 10*92% 917 KW awn MW (it is a pipe [which is a *53] it
can no longer revert back to a block of wood), it should be considered a°2RXw 2°»
which disqualifies the mpn. The X3 answered since the 7109 of 02w 2’7 is only
112771; they were lenient in the case of Wppr 7027 wap. Our MdOIN refers us
elsewhere to clarify the statement that 1°2IXW is a 1312772 7109.

(9991 NHNN N1 DWI K10 91 8N Ka2) 122N [HN] 99990 P99 lymon
This concept that 12X is 73277% 2109 is explained by N0 in N3 AR 27 P8,

SUMMARY
The rules regarding 0°2XW 2°» are discussed by '010 in N2 DX 7217 PI5.

THINKING IT OVER
Are the cases of pn 710271 Wap or Wwap 027 ppn discussing whether the entire
water came from this pipe or only partially?*

! mooin cites there different opinions whether the 13277 109 is only if the minority of the mpn was o 2w o (but if
the entire Mpn was composed of 2°1IRW 71, it is RN™IINRTA 2109), or even if the entire Mpn was D°NRW 07 it is still
2109 only 1312772, See 72N *wIon XK # 39 and onwards.

% See the 0"awA there in Xnvm "7 X,02"2.



